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Level 2 Business Studies, 2019
90843 Demonstrate understanding of the internal 

operations of a large business

9.30 a.m. Tuesday 26 November 2019 
Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of the 
internal operations of a large business.

Demonstrate in-depth understanding 
of the internal operations of a large 
business.

Demonstrate comprehensive 
understanding of the internal operations 
of a large business.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL parts of the task in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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Achievement Exemplar 2019 

Subject Level 2 Business Studies Standard 90843 Total score 04 

Part 
Grade 
score 

Annotation 

a 

A4 

The candidate has not applied their understanding of leaders and managers to 
their chosen business or WASG as asked in the question. 

b 

The candidate has correctly defined policies and procedures, and provided a 
general example of a policy in the context of WASG. 

The candidate has explained why this policy is needed for WASG, and 
explained some impacts on the business. 

To achieve Merit, the candidate could have included more business knowledge 
/ business terms when explaining the impacts, and given a more specific policy. 

c 

The response contains consistent evidence towards Achievement. The 
candidate has provided a general explanation of productivity. Two reasons to 
increase productivity are correct, with the second reason (providing financial 
rewards) at Merit level, as the response contains a ‘what’, ‘why’ and impact. 

To gain Merit, the candidate needed to specifically explain productivity (input 
per unit of output) and provide two fully explained reasons. 

d 

The candidate has not correctly understood the concept of variance analysis, 
which limits the response. Knowing the correct definition of variance analysis 
would have greatly improved the response. 

There is some evidence of how variance analysis could improve decision-
making, but it is vague. 
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